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1. JqE UL TH & R AN 8 ? 1. What are the merits of . N. M. ?

(A) I TERE BT STIN (A) Utilization of all resources
(B) 3IfIdHaH BRIE (B) Maximize the benefit
(C) ®H drTd (C) Minimize the cost
(D) Sugad FHI (D) All of the above
2. I HIdd SIE] HIF-9T § 7 2. Which is the phosphate solubilizing
bacteria ?
(A) GG e (A) Azotobacter
(B) e (B) Bacillus
(C) VIzifaTH (C) Rhizobium
(D) TSRS (D) Azospirillum
3.  HISHRISU Hdd @ 9 fbg Sa @r 3. Mycorrhiza is an association of fungus
e 2 7 with which organism ?
(A) ST (A) Bacteria
(B) AT (B) Algae
(C) = U b el (C) Roots of higher plants
(D) 9% (D) Fungus
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ARSI Tolgd & XA § dH-9
I § ?

(A) Fe
(B) Mo

(©) T (A) 3R (B)

(D) SWE ¥ | TS el

92 b WRBRE & gfd & forg foer
fom. €1 . O @) ey gnfl ?

(A) 200 Tebm.

(B) 150 foum.

(C) 100 fom.

(D) 50 fom.

TolleT fhd B & folU U 3resT Wid-
SRS 3 ?
(A) T
(B T
(C) uM™

(D) IR

AG-407
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Which elements are involved in structure

of nitrogenase enzyme ?

(A) Fe
(B) Mo

(C) Both (A) and (B)

(D) None of the above

How much D. A. P. will be required for

supply of 92 kg phosphorus ?

(A) 200 kg

(B) 150 kg

(C) 100 kg

(D) 50kg

Azolla is a good bio-fertilizer for which

crop ?

(A) Gram

(B) Wheat

(C) Paddy

(D) Jowar

Set-D



7. ISOfeq & U Ydbe ¥ fbdd feur a9 7. How much kg seeds can be treated with

B SUAR fbar S Hhdr & ? one packet of Rhizobium ?

(A) 5 foam. (A) 5kg
(B) 10 fdm. (B) 10kg
(C) 15 fam. (C) 15kg
(D) 20 fam. (D) 20kg

8. f=foRed & ¥ o9-91 yiu¥® Uvs g 8. Which of the following is a primary

80 nutrient ?
(A) P (A) P
(B) Ca (B) Ca
(C) Mg (C) Mg
(D) S (D) S

9. VISOfeTq B Ugell IR fbee o fovam 9. Who firstly isolated Rhizobium ?

o 7

(A) . 91 9RFTee (A) J.B. Boussingault
(B) IfEC B (B) Robert Koch
(C) s UER (C) Louis Pasteur
(D) . S, fauifie (D) M. W. Beijerinck
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10. U @ WSl & TR R® @ &7, waf  10.  The area around root surface, where the

G T A e S B E activity of microorganism is maximum, is
called :

HEA ©

(A) TZIARBRR (A) Rhizosphere

(B) WISANGIAR (B) Phyllosphere

(C) dgAvSH (C) Atmosphere

(D) folIRmRR (D) Lithosphere

11. Y Wa-Sdke [deRT dg Rd 2 11. National Bio-fertilizer  Development

Centre is located at :

(A) TGS | (A) Lucknow

(B) 3 facel # (B) New Delhi

(C) TfrImETE | (C) Ghaziabad

(D) ®FYR ¥ (D) Kanpur

12. 59 %O & W€ & a1 M1 A A8 12.  Both stem and root nodule form in which

0 & ? crop ?

(A) el (A) Groundnut

(B) W (B) Seshania

(C) W (C) Karanj

(D) SUYa H A Bl 7l (D) None of the above
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13. 9Rd # VIO & 9eg S Y 138, In India  commercial production of

Rhizobium was started in :

I o
(A) 1980 H (A) 1980
(B) 1990 H (B) 1990
(C) 1950 H (C) 1950
(D) 1964 # (D) 1964

14, BEMS YGRS BT C: N U e 2l 14. What is the C : N ratio of organic

$9? matter ?

(A) 10:1 (A) 10:1
(B) 15:1 (B) 15:1
(C) 20:1 (C) 20:1
(D) 30:1 (D) 30:1

15. PHRE 1 P drer (Y fee 15. Who gave Bangalore method of

&2 composting ?

(A TH. ar. W.@W (A) S.P.L.Sorensen
(B) dRE. Tl TS (B) Y.D.Wad

(C) T TA. (C) L.N.Acharya
(D) T gHATS (D) A.Howard
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16.

17.

18.

19.

7T @I Ul Bl Hferd AT Ud SR
FU H UNG d@ B g bR D
FITRT &l PEeARl o -

7T JaRll

7T SRl

qar o

LRSI

(A)
(B)
©)
(D)
YIfd HREH Wl Al Iavdl HI JHIfad
R T -

(A) et T

(B) RIeIfcl

(C) fetary

(D) Suda Wl

a1 ST Pl AT B IS © -

(A) SIS BT IeT (39 H)

(B) U 1 A (@i /) A

(C) =M (A) 3R (B)

(D) SUYFT # ¥ PIE Tl

1131 e e 1 A s | e B e e
foee feam ?

(A) Frowem

(B) 3RAM 3R WIS

©) s fiw

(D)

AG-407
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16.

17.

18.

19.

The inherent capacity of soil to supply
nutrient to plant in adequate amount and

suitable proportion is called :

(A)
(B)
(©)
(D)

Soil fertility

Soil productivity
Soil quality

Soil health

Natural factors that influence soil

fertility :
(A)
(B)
(®)
(D)

Parent material
Topography
Climate

All of the above

The
productivity is :
(A)
(B)
(®
(D)

unit of measuring the soil

Value of yield (in rupees)
Quantity of yield (in g/ha.)
Both (A) and (B)

None of the above

Who gave the criteria of essentiality of
elements to the plant ?

(A) Nicholas
(B)
(©)

(D)

Arnon and Stout
E. Gris

Bray
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20. el & fou ofad Wwe dw@l @ @@ 20, Total number of essential plant nutrients

T for plants is :
(A) 13 (A) 13
(B) 20 (B) 20
<€ 17 (C) 17
(D) 21 (D) 21

21. NG Bl DIEAT BART @ T dfad gcdh 21. The main elemental constituent of cell

3. wall of plant is :
(A) Mg (A) Mg
(B) S (B) S
(C) B (C) B
(D) Ca (D) Ca

22. U Wl @ ghg w@ fem & fog 22.  The main element responsible for growth

™ eR T q@ 2 and development of plant root is :
(A) Ca (A) Ca
(B) Mg (B) Mg
© P © P
(D) K (D) K

23. fo=falRad # @ IF-91 dcd TRl &T 23.  Which of the following elements is the

structural component of chlorophyll ?

RS 39gq § ?

(A) Ca (A) Ca
(B) Mg (B) Mg
€ S (C) S
(D) B (D) B

AG-407 (9) Set-D



24,

25.

26.

217.

AG-407

gl # “feu & SR A Wi fbd

I Bl B BT oeToT T ?

(A) K
(B) Ca
€ N
(D) P

ATZCIOH & FH B I Ui b vy Wi
¥ g ?

(A) Y Bfcrar

(B) T W

(C) it ufcrt #

(D) R frt A

“GerTMl BT @Eell =17 I 59 @
@I T A BT © ?

(A) Ca

(B) Mg

C) B

(D) N

Uil gRT BRORE 59 e U H forar
STl & °

(A) T

(B) HerRH

(C) T (A) 3R (B)

(D) FHEHH wU

(10)

24,

25.

26.

27.

“Tip burn and margin scorching” is the
deficiency symptom of which nutrient in

plants ?
A) K
(B) Ca
© N
(D) P

Nitrogen deficiency symptoms occur in
which plant part ?

(A) Terminal bud

(B) On shoot

(C) New leaves

(D) Old leaves

“Hollow stem of cauliflower” disease is
caused by the deficiency of which

element ?
(A) Ca
(B) Mg
(C) B
(D) N

In which ionic form phosphorus is taken
by plants ?

(A) Anion
(B) Cation
(C) Both (A) and (B)

(D) Organic form

Set-D



28. UG T A HT ST W U @B Wi 28. By which process the movement of

a6 o g AR g e @ ? nutrient ion takes place from soil to plant
root ?

(A) &l yarg (A) Mass flow

(B) fawmyT (B) Diffusion

(C) Hd R (C) Root interception

(D) SUgad JHI (D) Al of the above

29. W9 Wl H emgAl  @r ANy 29.  When the absorption of ions takes place

e TR @ feg 9T 2, against an electrochemical gradient in the
N plant, is called :

(A) ffSpa arferenyor (A) Passive absorption

(B) fsy arferemyor (B) Active absorption

(C) T (A) 3R (B) (C) Both (A) and (B)

(D) SUYd H § I el (D) None of the above

30. fwfeiRad # & dI9-41 fafg | Fa1 S 30. Which of the following methods is used

for evaluation of soil fertility ?

BT i T ST & 2

(A) TEY fqversor (A) Plant analysis
(B) Sifad wer (B) Biological test
(C) aT Wefo (C) Soil test

(D) Sugad FI (D) All of the above
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3. WAl @& U F&1 TN B9 TR A 31. Soil sample for crops should be taken at

foRm ST AIRT ? which depth ?
(A) 25 JH. (A) 25cm
(B) 30 . (B) 30cm
(C) 15 T, (C) 15cm
(D) 40 I (D) 40cm

32. &l i e g foq @1 8§ 9 w) 32. At which value the organic matter level is

W B & ? low in soil ?
(A) <0.5% (A) <0.5%
(B) 0.5-0.75% (B) 0.5-0.75%
(C) >0.75% (C) >0.75%
(D) SWE ¥ | TS el (D) None of the above
33. URRRH @ &M & fau @9-ar dier 33, The plant used as indicator plant for
ok i & w7 3§ W BT 2 ? potassium deficiency is :
(A) el (A) Cauliflower
(B) 3Tef (B) Potato
(C) IRogEl (C) Sunflower
(D) Tl (D) Cabbage
34. RSO @ FENG F JBEHE wI | 34. Conversion of organic to inorganic form
Rad FEaTar 2 of nitrogen, is called :
(A) ReRIHRoT (A) Fixation
(B) HeTTgierd (B) Solubilization
(C) AP (C) Immobilization
(D) QIR (D) Mineralization

AG-407 (12) Set-D



35. MM @ ARG Uhar ¥ B
SiaT] e B § ?
(A) TR
(B) TEEIIRN
(C) aHI (A) &R (B)
(D) SWH # | B &l
36. BEMPB ARSI & WG § BE-1
foramd enfirer & & 2
(A) THHIGRT
(B) MR
(C) TR
(D) SHIF T
37. I YT H BRGRA HT ReRIaR0T [
e @ forarefiardr 9 9g e & ?
(A) Fe
(B) Al
(C) SN (A) 3R (B)
(D) SWa ¥ ¥ IS T
38. BRHRY ReRIGRT @I YHIfdd o drel
T FRS &
(A) TaT pH
(B) &I rdld yamel
(C) Har dM™
(D) ST W
AG-407
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35.

36.

37.

38.

In nitrification process of ammonia which
bacteria involve ?

(A) Nitrosomonas

(B) Nitrobacter

(C) Both (A)and (B)

(D) None of the above

Which

mineralization of organic nitrogen ?

processes are involved in
(A) Aminisation

(B) Ammonification

(C) Nitrification

(D) All of the above

In acidic soil phosphorus fixation

increases by the activity of which ion ?

(A) Fe
(B) Al
(C) Both (A) and (B)

(D) None of the above

The soil factors that affect the phosphorus
fixation are :

(A) Soil pH

(B) Soil organic matter

(C) Soil temperature

(D) All of the above

Set-D



39, ol RS O Sfdhad K &1 A gr)y 39. Clay mineral that have highest K

S S content :
(A) Tellge (A) llite
(B) dolsC (B) Kaolinite
(C) HArcAIRAMTSE (C) Montmorillonite
(D) Eljﬂw (D) Vermiculite
40. SRe 9 6 UNe dd BT T, 40. Fertilizer that contains single nutrient, is
HETT T called :
(A) HHd IRD (A) Complex fertilizer
(B) ¥ SRP (B) Straight fertilizer
) fl SiR® (C) Mixed fertilizer
(D) SIISIRP (D) Biofertilizer
41. HIggIvie REERED & fhaq NES e} 41. Nitrogenous fertilizers are mainly
Tfieg fpy T & ? classified in how many groups ?
(A) 2 (A) 2
B) 3 (B) 3
(C) 4 (C) 4
(D) 5 (D) 5

42. 9. U O ¥ fHaw gfowd Sgeio g 42. D. A. P. contains how much % nitrogen ?
g7

(A) 18% (A) 18%
(B) 46% (B) 46%
(C) 23% (C) 23%
(D) 30% (D) 30%

AG-407 (14) Set-D



43.

44,

45.

AG-407

BIF-H ASLIGM SRe IS Ui
Bl & ?

(A) 3EIFIH T3ee

(8) e

(C) 3rIfRm Fewe

(D) ¥ U U

UM e ¥ fbd % K,0 TRl ST
g7

(A) 60-62%

(B) 48-52%

(C) 38-40%

(D) 15-17%
o # fhad % 9o U™ o
g7

(A) 18.5%
(B) 20.5%
(C) 26.5%

(D) 31.5%

(15)

43.

44,

45.

Which nitrogenous fertilizer is neutral in

reaction ?

(A)  Ammonium nitrate

(B) Urea

(C)  Ammonium sulphate

(D) C.A.N.

Potassium sulphate contain how much %

K20 ?

(A) 60-62%
(B) 48-52%
(C) 38-40%

(D) 15-17%

Gypsum  contains how much %

sulphur ?

(A) 18.5%
(B) 20.5%
(C) 26.5%

(D) 31.5%

Set-D



46.

471.

48.

49,

AG-407

R gReRwe [ e & 9
dceM BRWE o 3IfMfhar | Safed
Bl 8 ?

(A) HCI

(B) HNO;
(C) H2SOq4
(D) HsPO,

IRAT ¥ BT URRIT 3T AT B
EIEIIRIN

(A) 3%
(B) 2.5%
©C) 2%
(D) 1.5%

MR $ @ig ¥ fhad % g gl
g7

(A 1%

(B) 0.5%
(C) 0.25%
(D) 0.10%

el o1 @ell # o yfoerd TggoH
URIT ST & 2

(A) 2%

(B) 5%

C) 7%

(D) 10%

(16)

46.

47.

48.

49.

Single superphosphate is manufactured
by reaction of rock phosphate with which

acid ?

(A) HCI
(B) HNO;
(C) H,S0,
(D) HsPO,

Maximum percent permissible limit of

biuret in ureais :

(A) 3%
(B) 2.5%
C) 2%
(D) 1.5%

F. Y. M. contains how much %

nitrogen ?

(A) 1%

(B) 0.5%
(C) 0.25%
(D) 0.10%

Groundnut cake contains how much %

nitrogen ?

(A) 2%
(B) 5%
C) 7%
(D) 10%

Set-D



50.

Y

52.

53.

e 3 9 dF-A1 5Od & @] &
W H SRAHIe Bl § 7

(A) <

(B) W

(€

(D) SWa &l

& @] $I Wl H fbd faven # gere
18y ?

(A) W AT DI 37wl

(B) IS g I 3raRen

(C) foheel fdmem @I eraven

(D) YR 3rawen

ORI GR M B foy febw Ug @
gRRrl &1 JAT fobam S @ ?

(A) ReRrreT

(B) &~

(C) mguTEaT

(D) SHIE W

(17)

50.

51.

52.

53.

Which of the following crops is used as

green manures ?

(A) Dhaincha
(B) Sunhemp
(C) Mung

(D) All of the above

Green manure crop should be turned in
soil at which stage ?

(A) Flowering stage

(B) Seed formation stage

(C) Tillering stage

(D) Maturity stage

For preparation of green leaf manure
which trees leaves are used ?

(A) Glyricida

(B) Karnaj

(C) Ipomoea

(D) All of the above

Blue-green algale is also called :
(A) Rhizobia

(B) Cyanobacteria

(C) Azotobacter

(D) Aspergillus

Set-D



54, VISOllfegd @I FoNfd ol HexX & 1 54. Rhizobium species that fix nitrogen with

AIEgIoM ReR el 2 pea.:
(A) TSSITITH RHARRA (A) Rhizobium leguminosarum
(B) NTSSITITH hRyaITel (B) Rhizobium phaseoli
(C) SISO STSWhich (C) Rhizobium trifoli
(D) RTESIfeH oI (D) Rhizobium lupini
55. Tolgdl BEell ® WY Weelldl w4 d  55. Which is the symbiotic nitrogen fixing
TP Redmor A% @ o bacteria of leguminous plant ?
P T ?
(A) TSICddeR (A) Azotobacter
(B) TSINGTERICH (B) Azospirillum
(C) TSoiIfed (C) Rhizobium
(D) TSHMAN (D) Pseudomonas
56. Olg-ATggio ReRIGNU § HIN-71 Umligd  56.  Which enzyme is involved in biological
o 2T & 2 nitrogen fixation ?
(A) IR (A) Urease
(B) SIS (B) Nitrogenase
(C) el (C) Amylase
(D) frgut (D) Lipase

AG-407 (18) Set-D



57. Wg-SRP P dEd U< & ®Y H HH-ATl 57. Which material is used as carrier for bio-

qeref I BT © 7 fertilizer ?
(A) e (A) Peat
(B) ferige (B) Lignite
(C) B (C) Compost
(D) Sugad FHI (D) Al of the above
58. fyHfiRed # & @ @mgelidl Mggie  58.  Which of the following is a non-aerobic
RerdYapvu Gﬁ_‘””l 39 nitrogen fixing bacteria ?
(A) TARSISIH (A) Clostridium
(B) UIFAE TN (B) Azotobacter
(C) NrgifeEH (C) Rhizobium
(D) TSIRUTSNIeH (D) Azospirillum
59. Tolgl Bell § VISolidyd &I Y9Il oIe 59. What is the colour of effective root
Ttet @7 T R AT & 7 nodule of Rhizobium in legume crop ?
(A) Terdl (A) Pink
(B) fld (B) Red
(C) Urer (C) Yellow
(D) = (D) Green

60. fAHfoRad & ¥ #9-9 5. T4, U4, & 60. Which of the following are components

—. of I.N. M. ?
(A) BTG G (A) Organic manure
(B) SRP (B) Fertilizer

(C) WI-IRF (C) Bio-fertilizer
(D) SUgad JHI (D) Al of the above

AG-407 (19) Set-D



10.

11.

12.

Impt. :

Four alternative answers are mentioned for
each question as—A, B, C & D in the booklet.
The candidate has to choose the most
correct/appropriate answer and mark the
same in the OMR Answer-Sheet as per the
direction :

Example :

Question :

Q1T ® @ © ®
2 ® ® @ ©
W3 @ @ © ®

[llegible with  cutting
over-writing or half filled circle will be
cancelled.

answers and

Each question carries equal marks. Marks
will be awarded according to the number of
correct answers you have.

All answers are to be given on OMR Answer
sheet only. Answers given anywhere other
than the place specified in the answer sheet
will not be considered valid.

Before writing anything on the OMR Answer
Sheet, all the instructions given in it should
be read carefully.

After the completion of the examination
candidates should leave the examination hall
only after providing their OMR Answer
Sheet to the invigilator. Candidate can carry
their Question BookKlet.

There will be no negative marking.

Rough work, if any, should be done on the
blank pages provided for the purpose in the
booklet.

To bring and use of log-book, calculator,
pager and cellular phone in examination hall
is prohibited.

In case of any difference found in English
and Hindi version of the question, the
English version of the question will be held
authentic.

On opening the question booklet, first
check that all the pages of the question
booklet are printed properly. If there is ny
discrepancy in the question Booklet, then
after showing it to the invigilator, get
another question Booklet of the same series.

10.

11.

12.

Te-gRA®T H UA® U & IR GRITad StR—
A,B,CTd D | Wiemdi & 89 9 fawedl § &
U6 [ el Yal Ha¥ UG SR Blel 2|
IR BT OMR J=R-3e § Jufd u97 o §
o TPR MR R

SHEYUE

'EL

w1 @ © O™

2 A ® ©

wm: D @ © ©
TSI TR AT U SR =8 BleT AT el T
&, TT Tl H 3T MRaR fodm T, I FAvved
fear S |

TG T B 3F FHE 2| AP R SR
e B, I B AR 3P YIM b SR |

T ST $ad 3N TH. IR, ST-T98 (OMR
Answer Sheet) WX 2 fo o 8| Sw-uAe A
fuiRa WM & aremar =9 @8l W fear M
STR A T8l 81 |

3. TH. R, STR-U36 (OMR Answer Sheet) W
o N fore & 7@ I A T W0 argeEl @l
AaIgdd U foram S |

e T & SWa Wenedt vy FRge B
3T OMR Answer Sheet SUTE &XM & I
B T P F WRAH By | qRemeff o W
TE-QRAHT o S A ¢ |

ferife mifd T8 2 |
5 W X6 PR, TH-YRADET T 3 H, H-BR
& foru oy w@relt U1 W & fdan S ARy |

URIET-heT ¥ ANT-geb, Defdeicy, UoR a2l HegerR

B o ST 9T SHBT SN AT Iroid 2 |

7 & Rl U9 Sl wurReT § f=Tar g9 @l
T H U BT SN HUAROT & J= 2T |

HEAYU

—

| EAYRADT Fiel W YA G 9% o o

&
23
£
o
a,
|
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